Exhibit 1 Page 1 of 7

Bid #OPN2124596B1 - Pre-Conditioned Aircraft Air Hoses

Start Date Jun 28, 2022 5:37:14 PM EDT Awarded Date Not Yet Awarded

OPN2124596B101-01 Pre-Conditioned Air Hose Starter Cu	ff				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$89.95	261 / each	\$23,476.95		Y
Product Code: Agency Notes:		Inc. Model Number O Warranty Offere Delivery Lead Ti Starter Unit 14" inch diameter S	Manufacturer Off ffered: SU 7701 SZ ed: 1 year me: 30-40 days	В	craft Mfg
PAGE GSE	First Offer - \$95.00	261 / each	\$24,795.00		Y
Product Code:	I-II21 OHEI - \$30.00		\$24,795.00 Code: PLV14-01SS	11	1
Agency Notes:		Model Number Of Offered: 1yr Delivery Lead Tim Stock levels will ne	ed to be determined large quantity is ord	U Warran to meet th	nty ne 2
Airport And Commercial Equipment Suppliers, Inc. [Ad]	Alt 1 - \$105.00	261 / each	\$27,405.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: I Model Number C Warranty Offere Delivery Lead Ti	t Code: Manufacturer Offe Offered: 9507-14-1 d: 1 year	SH	
ITW GSE Americas	First Offer - \$131.00	261 / each	\$34,191.00	Y	Y
Product Code: Agency Notes:		Supplier Notes: N		red: ITW	with

Delivery Lead Time: 15 days

Exhibit 1 Page 2 of 7

OPN2124596B101-02 Wire Reinforced Pre-Conditioned		I			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PAGE GSE	First Offer - \$385.00	525 / each	\$202,125.00		Υ
Product Code: Agency Notes:		Supplier Notes: Model Number Warranty Offero Delivery Lead Ti Stock levels will n	me : 2 weeks eed to be determine a large quantity is or	ed to mee	t the 2
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$498.70	525 / each	\$261,817.50	Υ	Υ
Product Code:		Supplier Produc			
		Warranty Offero Delivery Lead Ti RDI-Series Rigid duct Wire supported h 6" pitch with black wear s Sewn constructio Insulated Inlet and Outlet e 14" dia x 20' long	me : 30-40 days nose, trip n		
		525 / each		Υ	T
Airport And Commercial Equipment Suppliers, Inc. [Ad] Product Code: Agency Notes:	Alt 1 - \$525.00	Supplier Produc Supplier Notes: Model Number Warranty Offerd Delivery Lead Ti	Manufacturer Offe Offered: 9507-20VW ed: 1 year me: 30-40 days nforced starter hose	red : Estex	
ITW GSE Americas	First Offer - \$567.00	525 / each	\$297,675.00	Υ	Υ
Product Code: Agency Notes:		Supplier Notes:	t Code: PWV1420 Manufacturer Offe Offered: VS1442-20	red: ITW (GSE

Exhibit 1 Page 3 of 7

OPN2124596B101-03 Flat Pre-Conditioned Air Hose			F	Page 3 of	7
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PAGE GSE	First Offer - \$325.00	525 / each	\$170,625.00		Υ
Product Code: Agency Notes:		Model Number C Warranty Offere Delivery Lead Tir Stock levels will no	Code: PLV14-20 Manufacturer Offe Offered: PLV14-20 d: 1yr ne: 2 weeks eed to be determine a large quantity is or	d to meet	the 2
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$371.00	525 / each	\$194,775.00	Y	Υ
Agency Notes:		Inc.	ne: 30-40 days ose, r strip, ruction		0
Airport And Commercial Equipment Suppliers, Inc. [Ad]	Alt 1 - \$406.95	525 / each	\$213,648.75		Υ
Product Code: Agency Notes:		Model Number C Warranty Offere Delivery Lead Tir	Code: Manufacturer Offe Offered: 9507-20VF d: 1 year		-
ITW GSE Americas	First Offer - \$457.00	525 / each	\$239,925.00	Υ	Υ
Product Code: Agency Notes:		Model Number C	/lanufacturer Offe Offered : SH1483-20 d : 1 year manufactu		

OPN2124596B101-04 Pre-Conditioned Air Hose Reducer					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PAGE GSE	First Offer - \$139.00	675 / each	\$93,825.00		Υ

	County Commissioners			O	FINZ 1240
Product Code: Agency Notes:		Model Number C Warranty Offered Delivery Lead Tin Stock levels will ne	ne : 2 weeks eed to be determine a large quantity is or	red: PAGI A d to mee	7 E GSE t the 2
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$172.50	675 / each	\$116,437.50	Υ	Υ
Product Code: Agency Notes:		Inc. Model Number C Warranty Offere Delivery Lead Tin Straight Outlet Rec	Manufacturer Offer Offered: OU 7400 ZS d: 1 year ne: 30-40 days ducer inlet end 14" dia int	iΒ	raft Mfg
Airport And Commercial Equipment Suppliers, Inc. [Ad]	Alt 1 - \$175.00	675 / each	\$118,125.00		Υ
Product Code: Agency Notes:		Model Number C Warranty Offered Delivery Lead Tin	/lanufacturer Offei Offered : 9507-END d : 1 year		
ITW GSE Americas	First Offer - \$218.00	675 / each	\$147,150.00	Υ	Υ
Product Code: Agency Notes:		Supplier Notes: N Model Number C	Code: PLV1408TA Manufacturer Offer Offered: SH1483-01 d: 1 year manufactu		

Unit Price	Qty/Unit	Total Price	Attch.	Docs
rst Offer - \$285.00	210 / each	\$59,850.00		Υ
	Supplier Notes: M Model Number O Warranty Offered Delivery Lead Tin Stock levels will ne	lanufacturer Offe ffered: PCA610 d: 2yrs ne: 2 weeks ed to be determine	d to meet	the 2
	st Offer - \$285.00	St Offer - \$285.00 210 / each Supplier Product Supplier Notes: M Model Number O Warranty Offered Delivery Lead Tin Stock levels will ne	St Offer - \$285.00 210 / each \$59,850.00 Supplier Product Code: PCA610 Supplier Notes: Manufacturer Offer Model Number Offered: PCA610 Warranty Offered: 2yrs Delivery Lead Time: 2 weeks Stock levels will need to be determine	St Offer - \$285.00 210 / each \$59,850.00 Supplier Product Code: PCA610 Supplier Notes: Manufacturer Offered: PAGE Model Number Offered: PCA610 Warranty Offered: 2yrs

Broward County Board of County Commissioners

Col	unty Commissioners			Exhibit	4
		time will be 3 to 4	weeks.	Page 5 of	
ITW GSE Americas	First Offer - \$400.00	210 / each	\$84,000.00	Υ	Υ
Product Code: Agency Notes:		Model Number C	Manufacturer Offe Offered : JB730-13-3 d : 1 year manufact	60	
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$655.00	210 / each	\$137,550.00		Υ
Product Code: Agency Notes:		Inc./Sage Model Number C Warranty Offere Delivery Lead Tir	Manufacturer Offe Offered: 8 to 8 PCA d: 1 year	Adapter	

OPN2124596B101-06 Pre-Conditioned Air Flat 90 Degree Elbow Hose							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
PAGE GSE	First Offer - \$185.00	261 / each	\$48,285.00		Υ		
Product Code: Agency Notes:		Supplier Notes: N Model Number C Warranty Offered Delivery Lead Tin Stock levels will ne	ne : 2 weeks eed to be determine a large quantity is or	red: PAGE EG ed to meet	the 2		
Airport And Commercial Equipment Suppliers, Inc. [Ad] Product Code: Agency Notes:	Alt 1 - \$205.75	Model Number C Warranty Offered Delivery Lead Tin	/lanufacturer Offe Offered : 9507-90V d : 1 year		Y : Mfg		
ITW GSE Americas Product Code: Agency Notes:	First Offer - \$246.00	261 / each Supplier Product	\$64,206.00 Code: PFV1490DEC Manufacturer Offe	Y	Y GSE		
		Model Number C	Offered : SH1483-90 d : 1 year manufactu	DEG			
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$252.50	261 / each	\$65,902.50	Υ	Υ		
Product Code: Agency Notes:		• •	Code: Manufacturer Offe Offered: EU 7790 W		aft Mfg		

Warranty Offered: 1 year Delivery Lead Time: 30-40 days Exhibit 1 Page 6 of 7

Elbow Unit

90 degree Elbow Unit 14" dia each end.

Spiral sewn with wearstrips. Insulated Inlet and Outlet ends: Velcro cuffs

OPN2124596B101-07 Insulated Lite Hose					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PAGE GSE	First Offer - \$239.00	261 / each	\$62,379.00		Υ
Product Code: Agency Notes:		Model Number C Warranty Offere Delivery Lead Tin Stock levels will ne	Manufacturer Offe Offered: PLV14-10 d: 1yr ne: 2 weeks eed to be determine a large quantity is or	ed to meet	the 2
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$248.00	261 / each	\$64,728.00		Υ
Product Code: Agency Notes:		Supplier Product	Code: //anufacturer Offe		
		degree	ne: 30-40 days ose, r strip, ruction		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	Alt 1 - \$277.25	261 / each	\$72,362.25		Υ
Product Code: Agency Notes:		Model Number C Warranty Offere Delivery Lead Tir	//anufacturer Offe Offered : 9507-10VF d : 1 year		Mfg
ITW GSE Americas	First Offer - \$328.00	261 / each	\$85,608.00	Υ	Υ
Product Code: Agency Notes:		Model Number C	/lanufacturer Offe Offered : SH1483-10 d : 1 year manufactu		

Supplier Totals

f PAGE GSE	\$661,884.00 (7/7 items)
Bid Contact Bruce J Hrenko	Address 2050 Cessna Drive

	County Commis	sioners	Exhibit 1
	bhrenko@pagegse.com Ph 508-916-7172	Vacaville, CA 95688 _{Pa}	ige 7 of 7
Bid Notes	PAGE GSE can meet the 2 week delivery once stock le weeks to ship complete if partial shipments are not a		3 to 4
Agency Not Bid Allowance	res:	Supplier Notes: PAGE GSE can meet the 2 week delivery stock levels are determined. Large order take 3 to 4 weeks to ship complete if pashipments are not accepted	ers will 🌡
f Airport A	nd Commercial Equipment Suppliers, Inc. [Ad]	\$852,485.70 (7/7 item	ıs)
Bid Contact Ouglification	Fadi Soubra fadi.soubra@acesincusa.com Ph 954-755-9330 Fax 954-346-8000 S SB SBE/CBE APPLICATION	Address 3700 NW 124th Ave ste 132 dba A.C.E.S., Inc. Coral Springs, FL 33065	
Agency Not		Supplier Notes:	Head Attch:
Bid Allowand	ce		\$23,400.00
f ITW GSE A	Americas	\$952,755.00 (7/7 items)
Bid Contact	Scott Twining stwining@itwgse.us Ph 937-622-2780	Address 11001 Hwy. 41 North Palmetto, FL 34221	
Bid Notes	All quoted items are approved equals.		
Agency Not Bid Allowance	es:	Supplier Notes: All quoted items are approved equals.	### ##################################

**